DSS125B

O #<T W/ DongCheng

No |Code Name of Spare Parts Remark inSovlneSawunniy QaVIBY QBIS

30021100086 Cheese Head Screw M6x16

30024300023 Wheel Guard

30019900181 Sleeve

30029900048 Bush

30024000182 Gear Housing Coverplate

1
2
4
5 30021600140 Backing Pad62x14x1.5
7
8
9

30025300010 Bush

10 30050900020 Felt Ring

11 30021400067 Ball Bearing 6003DD (LFB)

12 30021700001 Woodruff Key 3x3.7x10

13 30020100032 Drive Spindle

14 30021700002 Woodruff Key 4x5x13

15 30021300046 Hex Nut M14

17 30021100070 Countersunk Head Screw M4x14

18 30021100089 Small Pan Head Screw W/Washer M5x16

19 30024000183 Strap Holder

20 30024000184 Strap Buckle

21 30023300039 Gear Housing

22 30010300077 O Ring

24 30025300009 Spacer Ring 17x23x7

25 30020500069 Gear

26 30021600014 Circlip for Shaft17

27 30023400041 Motor Bracket

28 30010300044 ORing (32x2)

29 30021400300 Ball Bearing 6201DDU-DC06

30 30016000011 Baffle Plate

31 30400401657  |agluaviulwh DSS1258 220V

32 30024000185 Band 2

33 30021200018 Pan Head Tapping Screw

34 30415400079 Motor Housing (DongCheng)

36 30016300010 Insulation Washer

37 30021400354 Ball Bearing 608-2RS-DC01S

38 30010400004  [Damping Washer  (22x25x3)

39 30022000001 Bearing Retainer

40 30021200026 Pan Head Tapping Screw ST5x63

41 30400600098 |az'luaflanasa DSS1258 220V

42 30030700002 Brush Holder Assembly

43 30021100096 Hexagon Socket Screws W/Flat Point M5x8

44 30030600018 Carbon Brush

45 30030800002 Brush Holder Cap

46 30030400007 Capacitor 0.33pF

48 30021200001 Pan Washer Head Tapping Screw ST4x12

49 30016400009 Terminal Block Cover

50 30030100059 Switch 110-220V

51 30030400017 Terminal Block

52 30021200008 Pan Washer Head Tapping Screw ST4x16

53 30016300006 Strain Relief

55 30021200048 Pan Head Tapping Screw ST4.2x17

56 30010100033 Cord Guard (PVC)

57 30030300078 Power Cord (European Standard Plug) 220V

58 30021200002 Pan Washer Head Tapping Screw ST5x20

60 30050900045 Paper Pad

61 30021600054 Standard Spring Washer 14

861 (30025100007 Wrench

862 (30019900267 Big Sleeve

T1 30005090082  |yedeAuluuan+lu Including: 6,16

T2 30005090118 Hasusina Including: 54,59




